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BeKE  (DIP-GX350) A1k 2
GXJZ  1FE% NI ARSREE  O#350mn  1FE L=1.600m 16
GXJZ  1FE%E W AREREE  11££350mm  L=0. 980m 1
GXIEHEMBEY 7 | Of&350mm (F v A ¥ —F) 16
G H£350mm  90° sz ih % — &
G H£350mn  90° A3z ih% 4 {#
GXTEE NEAREREE  O£E350mm  SAE 1.=6. 000m 1 A
GXZE A48350mm  F A F— 1 &
GXZE H8350mm  EJBE B LA
GXTEE F£%350mm  G-Link 2 {#
PR RS — b PR FE itk 1.876 + ) 1.633 3.51 m
MW RT — 7 SEHITNFEIE R FE itk 3.738 + FE 3,545 7.28 m
Bl (DIP-GX350) 5575 8
BREE TaAE L M££350mm  GXJE 25.160  + 25.16 m
PR AT H£8350mm  GXJE 25. 160 25.16 m
RN AR L 1 f&pT
CXEAkFHe e L M£2350mm  GXJE (B 32 D) 17 0
(SLHINELE L)
Fitk B
GXFAfiax L GXJE [1££350mm 3.757 + 3. 557 7.31 m
PregE LT 1T GXJZ FA1££350mm 2 o
CXIEAk 426 T 18 350mmiEL & 1 M
CXIEAE T4 L 1 ££350mm 5 & i 2.0 + FlE 2.0 4 0
W R — N L 3.51 m
W R T — 7 1 7.28 m
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BIWr (GXHE) ¢ 350mm = 2 0O
TEKERER T 25.16  + 3.76  + 3. 56 32.47 m
(¢ 350, FA7KEHLASEL)
Fi k4% (DIP-GX350) 548 T. (HP600)
HEE T e L= 25.16 m
FIAFEATL (=T v 7) V= /4 X (0.60 2—0.374"2)
X 25.16 m = 4.350 4.35 m3
ALt A= x/4X  0.60 "2 — x/4 X 0.374° 2
X 2.0 » = 0.35 0.35 m2
e (VP50) L= 3.00+ 3.00 = 6. 00 6.00 m
V7w k(¢ 50) N= 6. 00 m/ 4.0 = 1. 50 1 &
e (VP50) Ak T L= 6. 00 = 6. 00 6.00 m
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テキストボックス
対象　鋼製ケーシング撤去工のみ計上
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T Al 5l i 31 EA{T IP. 2%tk IP. 335 & 8
® 2500mm
JEASEHIFEHA T BitE+ N=5 m 3.33 3.33m
WE+ N30 m 1.99 1.99 m
Wi+ N30 m 0m
® 2000mm
JEASRHIFEHA T BitE+ N=5 m 4. 66 4.66 m
/N WE+ N30 m 0m
Wi+ N=30 m 0m
i)
SEHTREOE R L BH=0. 20m3, &K + m3 15.2 9.6 25 m3
VA 7% 1R T m3 27.8 16.0 44 m3
nt oty LS m3 27.8 16.0 44 m3
B
gV THET ¢ 2500 (L=7.90m) T 1. 00 1 4]
T =TT ¢ 2000 (L=6. 30m) E T 1.00 1 g
=L THIT m 13. 66 13.13 26.79 m
= THET ¢ 2500 P 1 1 _f5p
=L THEET ¢ 2000 T 1 1
ATy THEE t 1.75 2. 07 3.82 t
g a 7 U— bk |(30-18-20N(25)) m3 7.90 3. 40 11.3 m3
=y Bl BT ¢ 2500 m 1.20 1.2m
=y Bl BT ¢ 2000 m 0.90 0.9m
ZERE - ERET 227 Y — 1 T118-8-40| m3 2.11 1.43 3. 55 m3
ZeRA - ERhET  RIMT () m2 6.35 4.81 11.16 m2
T TR ¢ 2500 m 2.82 2.82m
r= TR ¢ 2000 m 2. 46 2.46 m
DO
b b ¢ 25004 1 1. 00 1 {#
SEHr— & 2500/ m 2.20 2.2m
Fi&r—=v 7 ¢ 25008 m 2. 00 2.0m
e r—v 7 ¢ 2500/, L=2.50m = 1 1
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| fE Rl i 1 EZlia IP. 2%&itE 1P. 3% & &
3 Wi ¢ 2000 1A 1.00 1 {#
S —v 7 ¢ 2000/ m 2. 10 2.1m
k-7 ¢ 2000/ m 2.00 2.0m
B —~ 7 ¢ 2000/, L=2.00m Y 1 L
bR T T ¢ 2500 [E] 1 1 [H]
HEPRER B S T ¢ 2000 ] 0 1 1 [\
BEPROEGRE - FEER(E T ¢ 2500 [l 1 |
BEPROEGRE - FEERTE T ¢ 2000 [l - 0 [=]
5 kPR T B PT 1 1 2
2T A SALFRT s 1 1 2 EEHT
JEKAS) B m3 1.9 1.2 3.1m3
M Tk EXIE T ¢ 2500 {5 FT 0 fEpTl
BF T ¢ 2500/ AT 0 & F|
BHEAT ¢ 2500/ E T 0 f&F
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